| Nr. of TR photons |

R

=

dN/dn

0.8
0.7,

0.6

Eqr [keV]

0.9

50

L]
L]
»
.
[ ]
[ ]

DC1: <n >=1.07
DC2: <n;g>= 0.09

45
40|
35
30
25
20|

15

10 15 20 25 30 35 40 45 50
time bin

30
60
40
20
o

| Energy of TR photons |

S 0.
[}
=
=)
o
g 0.08
z
o

|  Electron Event Status |

80 100 120 140
Exe [keV]

80

60

40

Accepted
Track Position

20

Thack Search

B Y —

| TR energy per electron |

[1/keV]
o
o
(o]

tot
TR

dN/dE!
o
o
a1

20 40 60 80 100 120 140

Evn [keV]
| Pad Position of TR |
16900
[
3
o
O
8000
6000
4000
2000
0
0 2 4 6 8 10 12 14 16
Pad No.



